Gyakorlo feladatok megoldasai - 1.
MAMI112M

—18 +40s — 2552 + 24 ¢*

% 4sin(\/4t)

2/5 (et —e~4t)

2e "t cos(2t)

345 cos(2t) — 2 sin(2t)

2/3t3e! — t2el + elt
2t2e 7t 4 te t 4 2e70
x(t) = (22t + et 2e7t 4 €21)

(a) e 3524/s°

) e*(&E+5+32+2
©

© w5

(b) 52 j 25
s? +21
@ S w9 3
s—3 (s —3)
f) —6 +38
() (@—3F+6@2 (@—3%+6Q3
) 1
b i E
(b) 2t2%e!
(d) —2/5e72t4+7/5€3!
(f)  2e!cos(t) + 3 el sin(t)
(h) —1/3 (2" —6e't +e77)
(b) 1/5e3t 4+ 4/5¢e 2!
(d) 2e tcos(2t) +1/2e " sin(2¢)
(f) £ cos(t) — 2 sin(t) + 3 e’ cos(t) — 2 e’ sin(t)
(h) -1 (—e_?’t + cosh(v/2t) — 5 \/isinh(ﬂt)) 2t
(G) x(t)=(7/2€*" —3/2e%", —9/2€2! +7/2€*?)
(b) e*(ZF+5+D+e*(-3-5-9
(d) e*+ 225 — 458
(f) (s+1)%s2+1)
) e



HOES 1 (b) Hy(t)(Lel=2 — Le=2t+4)

Hy(t)(2 €72 cos(t — 2)) (d) LHy(t)(e2t4 — e=2t+4)

Hy(t) + Hy(t) — Hs(t) — Hy(t) (f) #¢3—t+sin(t)

—Let+ 1 cos(2t) + 2 sin(2¢) (h) fte '+ Z et — 2 cos(2t) — 3 sin(2¢)

1 —cost+sint — Hyo(t)(1 — sint)

e~tsint + $H(t) (1 +e =) (cost + sint)) — 1Ho (1) (1 — e (2™ (cost + sint))
g(t) + Ho(t)g(t — ), g(t) = & (—4cost +sint +4e /2 cost + e /2 sint)

$(1 = Har(t))(2sint — sin 2t)

Hy(t)g(t — 1) — Ha(t)g(t — 2), g(t) = —1+ (cost + cht)/2

etcost +e tsint — Hy(t)e (™ sint

TH,(t)sin2t — L Hop(t) sin 2t

fcost+ Zsint — tecost — Ze!sint — Hﬂ/Q(t)e_(t_“/z) cost
— S cos(3t) — & sin(3t) + & et cos(t) + 2L e~ sin(t)

%e*t/Q cos(t) — 15 e~ t/?sin(t) + 23 H()

—% H,(t)e=t=™)/2 cos(t) — 2 H,(t)e=(t=™/25in(t)



